November 24, 2023 8:11 PM

(a) I think the cleanest proofs are by contradiction.
Proof < is a well ordering \iff 1 is the least monomial in <.

Suppose  $\angle 3$  a well ordering. TAC suppose  $1 > x^{\alpha}$  for some  $\alpha \in \mathbb{Z}_{>0}$ . Then  $x^{\alpha} > x^{2}x^{\alpha} = x^{2\alpha}$  by (ii). And  $x^{\alpha}. x^{\alpha} > x^{\alpha}. x^{2\alpha}$  by (iii)  $\Rightarrow x^{2\alpha} > x^{30\alpha}$ .

We have  $| \rangle \times^{2\alpha} \rangle \times^{3\alpha}$ Continuing this we get  $| \rangle \times^{\alpha} \rangle \times^{2\alpha} \rangle \times^{3\alpha} \rangle \times^{4\alpha}$ Contradicting every subset of monomials has a least element.

(E) Suppose I is the least monomial.

Let S be a subset of  $Z_{00}^{N}$ ,  $S \neq 33$ .

Let  $I = \langle \times^{\alpha} : \alpha \in S \rangle$ .

Dickson's Lemma  $\Rightarrow I = \langle \times^{\alpha(1)} \times^{\alpha(2)} , \dots, \times^{\alpha(3)} \rangle$  for some  $S \in \mathbb{N}$ .

[Doesn't Dickson's Lemma's proof assume a well ordering?]

WLOE suppose  $X^{\alpha(1)} < X^{\alpha(2)} < \dots < X^{\alpha(3)} <$ 

TAC suppose XBES with  $XB< X^{\alpha(1)}$ ,  $XBEI \Rightarrow X^{\alpha(1)} | XB \text{ for some } (\leq i \leq S.)$ If i=1 we have  $X^{\alpha(1)} | XB \Rightarrow X^{\alpha(1)} \leq XB$ If i>1 we have  $X^{\alpha(1)} | XB \Rightarrow X^{\alpha(1)} \leq XB$ 

Let S be a subset of Zzo, S + Ø. If O ∈ S Then sine O ≤ \alpha, S has a least element O. If O \$ 5 then consider S' = SU \( \forall \). SI has a least element o and > 3 a total ordering so I BES s.t. O < B < x in SI for all a ∈ S. 1903. Hence BESI is the least element in S. Thus > is a well ordering.

>lex with x>9 (b)

$$f_{1}=x+y^{2}-1$$

$$f_{1}=x+y^{2}-1$$

$$f_{2}=xy+1$$

$$f_{2}=xy+1$$

$$f_{3}=y+2y^{3}-y-1=f$$

$$f_{4}=x+y^{2}-1$$

$$f_{3}=x+y^{2}-1$$

$$f_{4}=x+y^{2}-1$$

$$f_{5}=x+y^{2}-1$$

$$f_{5}=x+y^{3}-2y$$

$$f_{5}=x+y^{3}-2y$$

 $\int_{0}^{\infty} f = 2y f_{1} + 0 f_{2} + (-y^{3} + y^{-1}).$ 

>grlex with x>y

$$f_{1} = y^{2} + x - 1$$

$$f_{1} = y^{2} + x - 1$$

$$f_{2} = xy - 1$$

$$= xy - 1$$

$$- xy - 1$$

$$= - xy - 1$$

$$= 0 = 6$$